K1859_A

=5 2380[w 7 Z&E 72 S5 Mgl 2@ 2|B0] U
%/FJ% A
= S5/HIE oln|x|

© HEINRICH KIPP WERK GmbH & Co. KG

rir

=
=

ZL

HE AMY:
_\T_|A§ == oI-|_|.A|.7|.

e 22 MBI
-U-|O°|_|' a2z Al-sl-o-" ()|é> |.
[e)

25 E
sy [RQILICH B2 ARICIE FA £ & AR
Ci2 AF2 7HSELICH QLIAHE AL 5H0f CHY S 212Y RES ApfA
= oo A2RE & QAL B8 URICE £2 IS 42 2Y

SH04 =B QWA ST I5) A% FI= AIFE T
SaE + oaLIcH B8 AEICl= 0|3 78 Mol 7oz HxiE
ch 914 58 S0l 2= & o efelolAf 0| sicje Jlax 2
2 F¥aHE(0f &

THE:
5ted A mAE AR
42 NB

shed AY &t ok 2|

IAE B3 &El

HH:

£5 deiool 7telix|e Het2g msok guict

E5 MECt A2IH Sof AXEoZ LIAZ 1HE F2 25 A
Hﬂﬂﬂﬂ%$ﬂ§ﬁ%ﬁ@§uqzczwﬁgEEHErg
g =5 MBS FA H2IHZ M8stE F2 XIXITHE HE o )
ofoF BfLct

AHAE HEE HIE Helol e x| gh&Lch

ZTX| A,

71= HI0|E:
Z|CH ZHE 2724 500bar.
Egl:
MR 2ZME FERFFAAL
Xk

=_-
-E8 HE A3do|E
- Chksh 7 dbed
- g2 2z e el
-2 & e
-Ee =3l x|,
-0|3 F A AS.

www.kipp.com - info@kipp.com 1/3



K1859_A

o
as A S ool =22 Al AIL ol=
=5 A3 0[m7| Ze&tE R =5 ARl A= 2B =5
C
E/EhE, AL
=5 MY/MIE o0l x|
L B )
27§ 0 30 & ZK| o448 2 8) x &
MMIAME]:
x| 2 E K0307.
- E2 27|0|E K0282, K0302, K1164, K0287, K0288.
- 7+ a2\ K0386.
=M MH.
AY: BYHE U EHUE £ LA ZRIE
BE: HIEH, S E2, 0 3 EAMX| 4%
CH¥: &2 ™ 03 Z3x| A4
1) Ax| 224
=M
® . " _ L
SW L5 L4
YT YT
0 le HEEE—
i A | M )
o D |
- @ 5 e R (AR
: '\% A ‘
> O Sip e Rl € N
AN
H1 L3 \ D2 L1
6 @ L7
n8 up!
Gl | A ‘ B gl
@ _______ ‘ ==
AN
L8
ESY%
=5 23840|E7 E£&E /Y S5 480, A2 2|BHO| U= SS/HS
FEHS Efel HefEr n||¢% AE=Z3 NWZEY B B1B2DDI D2 D3 G G1 H Hi H2
X8
K1859.160821011 A =R 16 8 LIAF 4 60 40 30 10 11 6,5 6,3x3 M6x15 G1/4 35 22 2
K1859.162021011 A [SESgS 16 20 LIAF 42 60 40 30 10 11 6,5 6,3x3 M6x15 G1/4 35 22 2
K1859.200821011 A ErES A 20 8 LIAF24Z2 60 40 40 12 11 6,5 8,5x3 M8x16 G1/4 35 22 2
K1859.202021011 A SRS 20 20 LIAF4ZA 60 40 40 12 11 6,5 8,5x3 M8x16 G1/4 35 22 2
K1859.250821011 A [SESgS 25 8 LIAFdZA 65 50 50 16 14 8,5 10,5x4 M10x17 G1/4 45 30 2
K1859.252021011 A ErES A 25 20 LIAFdZ2 65 50 50 16 14 8,5 10,5x4 M10x17 G1/4 45 30 2
K1859.321021011 A HsAl 32 10 LIAb @42 75 55 55 20 18 10,5 12,5x4 M12x18 G1/4 55 35 3
K1859.322021011 A [S2=2N] 32 20 LIAF94Zd 75 55 55 20 18 10,5 12,5x4 M12x18 G1/4 55 35 3
K1859.401021011 A =3=N 40 10 LAt @474 85 63 63 25 18 10,5 16,5x7 M16x27 G1/4 63 40 3
K1859.402021011 A HsAl 40 20 LIAF @42 85 63 63 25 18 10,5 16,5x7 M16x27 G1/4 63 40 3

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K1859_A

()
2 = —
=25 2340|x7} &tz 7et =5 Al A=8 2[EHo| A==
%/ FE A¥
&5
E=TT S EEEEER EllﬁEE AEZ3 AHZAEQ B B1 B2 D D1 D2 D3 G G1 H H1 H2
NI
K1859.161611011 A 54 16 16 LIAF @12 60 40 30 10 11 6,5 6,3x3 M6x15 G1/4 35 22 2
K1859.163211011 A =54 16 32 LIAF 944 60 40 30 10 11 6,5 6,3x3 M6x15 G1/4 35 22 2
K1859.165011011 A 254 16 50 LIAF®4Z2 60 40 30 10 11 6,5 6,3x3 M6x15 G1/4 35 22 2
K1859.201611011 A 254 20 16 LIAF @12 60 40 40 12 11 6,5 8,5x3 M8x16 G1/4 35 22 2
K1859.203211011 A =84 20 32 LIAF 914 60 40 40 12 11 6,5 8,5x3 M8x16 G1/4 35 22 2
K1859.205011011 A S84 20 50 LIAF 44 60 40 40 12 11 6,5 8,5x3 M8x16 G1/4 35 22 2
K1859.252011011 A =254 25 20 LIAb 944 65 50 50 16 14 8,5 10,5x4 M10x17 G1/4 45 30 2
K1859.255011011 A =54 25 50 LIAF 912 65 50 50 16 14 8,5 10,5x4 M10x17 G1/4 45 30 2
K1859.322511011 A S84 32 25 LIAF @42 75 55 55 20 18 10,5 12,5x4 M12x18 G1/4 55 35 3
K1859.325011011 A 254 32 50 LIAb QA 75 55 55 20 18 10,5 12,5x4 M12x18 G1/4 55 35 3
K1859.402511011 A =84 40 25 LIAF 912 85 63 63 25 18 10,5 16,5x7 M16x27 G1/4 63 40 3
K1859.405011011 A S84 40 50 LIAF @172 85 63 63 25 18 10,5 16,5x7 M16x27 G1/4 63 40 3
=25 238 0|m7} £&E 7et =5 el
=2 ElQ! EjEIQ mAE AEZ3 L L1 L2 L3 L4 L5 L6 L7 L8 SW SF=st g== S
X|& I|AE HX 100bar 22 100bar B2
(cm?) (kN) (kN)
K1859.160821011 A [SE=ES] 16 8 56 64 6 44 30 - 11165 8 2 2 -
K1859.162021011 A ErS 4| 16 20 91 64 6 44 30 - 11165 8 2 2 -
K1859.200821011 A ES4] 20 8 61 64 7 44 30 - 11165 8 10 3,1 3,1 -
K1859.202021011 A ErES 4 20 20 95 64 7 44 30 - 11165 8 10 3,1 3.1 -
K1859.250821011 A EtsS A 25 8 64 86 7 64 33 - 11 18 10 13 4,9 4,9 -
K1859.252021011 A EHS4 25 20 94 86 7 64 33 - 11 18 10 13 4,9 4,9 -
K1859.321021011 A  ErS4 32 10 75 10,6 10 76 38 - 11 22 12 17 8 8 -
K1859.322021011 A EHS 4 32 20 100 10,6 10 7,6 38 - 11 22 12 17 8 8 -
K1859.401021011 A HS4 40 10 79 106 1010,6 40 - 11 24 12 22 12,5 12,6 -
K1859.402021011 A  Er34 40 20 104 10,6 10 106 40 - 11 24 12 22 12,5 12,6 -
K1859.161611011 A 554 16 16 56 64 6 44 30 - 11165 8 2 2 1,2
K1859.163211011 A S54 16 32 73 64 6 44 30 - 111655 8 2 2 1,2
K1859.165011011 A 554 16 50 91 64 6 44 3024511 16,5 8 2 2 1,2
K1859.201611011 A SS4| 20 16 61 64 7 44 30 - 11165 8 10 3,1 3,1 2
K1859.203211011 A SS54 20 32 77 64 7 44 30 - 11165 8 10 3,1 3,1 2
K1859.205011011 A 554 20 50 95 64 7 44 3024511165 8 10 3.1 3,1 2
K1859.252011011 A S84 25 20 64 86 7 6,4 33 - 11 18 10 13 4,9 4,9 2,9
K1859.255011011 A S84 25 50 94 86 7 64 33 26 11 18 10 13 4,9 4,9 2,9
K1859.322511011 A S34 32 25 75 10,6 10 76 38 - 11 22 12 17 8 8 4,9
K1859.325011011 A =S54 32 50 100 10,6 10 7,6 38 27 11 22 12 17 8 8 4,9
K1859.402511011 A S84 40 25 79 106 10 10,6 40 - 11 24 12 22 12,5 12,6 7,7
K1859.405011011 A S34 40 50 104 10,6 10 10,6 40 27 11 24 12 22 12,5 12,6 7.7
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



